
3ODFH 9DOXH
3DORPDU &ROOHJH

����

2EMHFWLYHV

ȕ ,QWURGXFH VSHFLILF YRFDEXODU\�
ȕ:ULWH D QXPEHU LQ ZRUGV�
ȕ:ULWH D QXPEHU LQ H[SDQGHG IRUP�

7KH GLJLWV 0, 1, 2, 3, 4, 5, 6, 7, 8, DQG 9 FDQ EH
XVHG WR ZULWH QXPEHUV� 7KH SRVLWLRQ RI WKH GLJLW
GHWHUPLQHV LWV SODFH YDOXH� 7KLV LV FDOOHG WKH
VWDQGDUG IRUP RI WKH QXPEHU� )RU H[DPSOH�
14, 358, 637, 945.432 LV ZULWWHQ LQ VWDQGDUG
IRUP�

5HDGLQJ D 1XPEHU LQ :RUGV

ȕ 5HDG HDFK WKUHH GLJLW QXPEHU EHWZHHQ
FRPPDV DQG WKHQ DWWDFK WKH DSSURSULDWH
ZRUG�

ȕ2Q WKH OHIW VLGH RI WKH GHFLPDO WKH ILUVW
FRPPD GHQRWHV WKRXVDQG� WKH VHFRQG
FRPPD GHQRWHVPLOOLRQ� DQG WKH WKLUG
FRPPD GHQRWHV ELOOLRQ� 7KLV LV FDOOHG WKH
ZKROH QXPEHU SDUW�

ȕ 7KH GHFLPDO SRLQW LV UHDG DVȐDQGȑ�
ȕ 7KH QXPEHUV WR WKH ULJKW RI WKH GHFLPDO
SRLQW DUH FDOOHG WKH GHFLPDO SDUW� :ULWH
WKH GHFLPDO SDUW LQ ZRUGV DV WKRXJK LW ZHUH
D ZKROH QXPEHU IROORZHG E\ WKH SODFH
YDOXH RI WKH ODVW GLJLW�

([SDQGHG )RUP

ȕ (DFK GLJLW RI D QXPEHU UHSUHVHQWV KRZ
PDQ\ RI WKDW SODFH YDOXH WKHUH DUH�

ȕ 7KH H[SDQGHG IRUP RI D QXPEHU EUHDNV
DSDUW WKH QXPEHU LQWR D VXP RI QXPEHUV
HDFK ZLWK RQO\ RQH QRQ]HUR GLJLW�

ȕ )RU H[DPSOH� WKH H[SDQGHG IRUP RI 251 LV
200 + 50 + 1�

%LOOLRQV 0LOOLRQV 7KRXVDQGV 2QHV � 'HFLPDOV
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14, 358, 637, 945.432 LV UHDG DV IRXUWHHQ ELOOLRQ� WKUHH KXQGUHG ILIW\�HLJKW PLOOLRQ� VL[ KXQGUHG
WKLUW\�VHYHQ WKRXVDQG� QLQH KXQGUHG IRUW\�ILYH DQG IRXU KXQGUHG WKLUW\�WZR WKRXVDQGWKV�

7KH H[SDQGHG IRUP RI 14, 358, 637, 945.432 LV
10, 000, 000, 000 + 4, 000, 000, 000 + 300, 000, 000 + 50, 000, 000 + 8, 000, 000 + 600, 000 +
30, 000 + 7, 000 + 900 + 40 + 5 + 4

10 +
3
100 +

2
1000�

([DPSOHV RI 1XPEHUV LQ :RUGV

ȕ21, 500, 612 LV UHDG DV WZHQW\�RQH PLOOLRQ�
ILYH KXQGUHG WKRXVDQG� VL[ KXQGUHG WZHOYH�

ȕ5, 023, 000, 023.7 LV UHDG DV ILYH ELOOLRQ�
WZHQW\�WKUHH PLOOLRQ� WZHQW\�WKUHH DQG VHYHQ
WHQWKV�

ȕ5, 213.034 LV UHDG DV ILYH WKRXVDQG� WZR
KXQGUHG WKLUWHHQ DQG WKLUW\�IRXU WKRXVDQGWKV�

/HWȍV 7U\ ,W

:ULWH HDFK QXPEHU LQ ZRUGV�
D� 31, 502, 016, 512

E� 4, 211.15

F� 218, 002.0256

([DPSOHV RI ([SDQGHG )RUP

ȕ 7KH H[SDQGHG IRUP RI 6, 721 LV
6000 + 700 + 20 + 1�

ȕ 7KH H[SDQGHG IRUP RI 21, 003.7 LV
20, 000 + 1, 000 + 3 + 7

10�

ȕ 7KH H[SDQGHG IRUP RI 280, 501.027 LV
200, 000 + 80, 000 + 500 + 1 + 2

100 +
7
1000�

/HWȍV 7U\ ,W

:ULWH HDFK QXPEHU LQ H[SDQGHG IRUP�
D� 51, 203

E� 4, 301.7

F� 5, 016, 005.025

3UDFWLFH

:ULWH HDFK QXPEHU LQ ZRUGV�

�� 31, 763, 981

�� 5, 678.213

�� 1, 000, 001.0045

:ULWH HDFK QXPEHU LQ VWDQGDUG IRUP�

�� ILIW\ PLOOLRQ� WKUHH KXQGUHG ILYH WKRXVDQG�
HOHYHQ

�� WZHQW\�WKUHH WKRXVDQG� IRXU KXQGUHG IRUW\�
ILYH DQG HLJKW\�HLJKW WKRXVDQGWKV

�� WHQ WKRXVDQG� ILIW\�WZR DQG WZHOYH KXQGUHGWKV

:ULWH HDFK QXPEHU LQ H[SDQGHG IRUP�

�� 21, 506

�� 500, 701.578

�� 2, 000, 817.034

:ULWH HDFK QXPEHU LQ VWDQGDUG IRUP�

��� 3, 000 + 200 + 50 + 4

��� 200 + 5 + 2
10 +

4
100

��� 30, 000 + 500 + 7 + 6
10 +

9
1000

7LSV

ȕ:KHQ UHDGLQJ D QXPEHU RQO\ XVH WKH ZRUG
ȐDQGȑ ZKHQ GHQRWLQJ WKH GHFLPDO SRLQW�

ȕ:KHQ FRQYHUWLQJ D GHFLPDO IURP ZRUGV WR
GHFLPDO QRWDWLRQ� PDNH VXUH WKH ODVW GLJLW LV
LQ WKH FRUUHFW SODFH E\ LQVHUWLQJ ]HURV LI
QHFHVVDU\� )RU H[DPSOH� ILYH DQG
WZHQW\�WKUHH WKRXVDQGWKV LV 5.023� 7KH ODVW
GLJLW � PXVW OLH LQ WKH WKRXVDQGWKV SODFH�

ȕ:ULWLQJ ]HURV DIWHU WKH WKH ODVW GLJLW WR WKH
ULJKW RI WKH GHFLPDO SRLQW GRHV QRW FKDQJH
WKH YDOXH RI WKH QXPEHU�

5.8 = 5.80 = 5.800



Place Value
Answers to Practice

Write each number in words.
1) 31, 763, 981

thirty-one million, seven hundred sixty-three thousand, nine hundred eighty-one
2) 5, 678.213

five thousand, six hundred seventy-eight and two hundred thirteen thousandths
3) 1, 000, 001.0045

one million, one and forty-five ten thousandths

Write each number in standard form.
4) fifty million, three hundred five thousand, eleven

50,535,011
5) twenty-three thousand, four hundred forty-five and eighty-eight thousandths

23,445.088
6) ten thousand, fifty-two and twelve hundredths

10,052.12

Write each number in expanded form.
7) 21, 506
20, 000 + 1, 000 + 500 + 6

8) 500, 701.578
500, 000 + 700 + 1 + 5

10
+ 7
100
+ 8
1000

9) 2, 000, 817.034
2, 000, 000 + 800 + 10 + 7 + 3

100
+ 4
1000

Write each number in standard form.
10) 3, 000 + 200 + 50 + 4
3, 254

11) 200 + 5 + 2
10
+ 4
100

205.24

12) 30, 000 + 500 + 7 + 6
10
+ 9
1000

30, 507.609
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